
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

   GMP/JUN 10/1 

Pumps
Aussie AUSSIE spares diagram & parts list 

All prices include GST 

AUSSIE GMP PUMPS:  

Part Number Qty Description 
Retail 
price 

5060 1 Sleeve B 1051/1  $104 
5244 1 Bracket dis. B 1050/B  $1,208 
5270 1 Cover B 1055  $108 
5335 1 Sealin Ring 30x62x10  $13 
5351 1 Wearplate B 1069/1  $304 
5394 1 Washer D.15x28x5  $5 
5442 3 S/Steel OEB Screw M6x15  $5 
5467 1 Greaser G ¼”  $7 
5584 1 Pump Body B2½ZRM-A  $4,141 
5860 1 Valve Body B3XR-A  $415 
5867 1 Counterweight B3XR-A  $18 
6035 2 Flex. Gasket B 1056  $18 
6052 1 OR 133 (24.99x3.53)  $13 
6103 1 Check Valve B 2583/1  $78 
6161 1 Washer D.7x75x2.5  $11 
6179 1 Washer B1060/23  $10 
6198 2 Snap Ring AA 30 E  $4 

B3ZRM-A WITH OR WITHOUT PULLEY 
Cat 1929 

Part Number Qty Description 
Retail 
price 

6209 1 Conical Tap ¼” Gas  $6 
6213 1 Conical Tap 1” Gas  $7 
6239 8 Hex. Head Screw M10x25  $4 
6244 1 Hex. Head Screw M12x25  $7 
6263 7 OEB Screw M 10x30  $2 
6280 1 Bolt E.I. M 6x15  $2 
6313 1 Self-Locking Nut  $13 
6317 1 Double Row Bearing  $194 
6319 1 Bearing 6206-Z  $53 
6326 1 Key B 6x6x25  $6 
6328 1 Key B 8x7x50  $5 
6341 1 Mech. Seal 32-54-15  $54 
6355 1 Counterface 33-57-10  $38 
6841 1 Rivet 6.5x20  $4 
F562  1 Shaft AISI 316 W/Key  $683 
F761  1 Impeller B3ZRM-A  $1,391 


